Kpurepuu 3a ouensiBane na 6 kiac:

Janaua :
3a uamepero a = |—0,09| + 0,9 — 9,99 = 0,09 + 0,9 — 9,99 = -9 2 TOYKH

LA N TP N e e 2 TouKH
1(4 10+ 115 l120).5( b1)4— 9+ 10.5:,( 1+1 1518.(~b) *-—9+54,
s D =gty Fih=—5 b=5=36
5 a1 1 i : 2 TOYKH

I e Rl
b a 36 -9 | Touka
M=——te= e e = 04— 2,5 = —2,
a b -9 3,6 i

Jajnaua 2:
Onpenensye Ha ab16ounHarTa ¢ = -E'_-.a = %.75 =58 | Touka
Onpenensue Ha wupnHarac = 25%. b, 5 =25%.b, b = 20m 2 TOYKH
Onpeaenare Ha ooem F=a.b.c; ¥=75.20.5=7 500 m" =7 500 000 7 2 TOYKH
250 aka=250 000 m~ | ToYka
7500000:250000=30 n Ha | M~ | Touka
3anaua 3
[ToctposiBate na puaronana AC | Touka
CN e meamana B A ADC. Torasa Sane =SDNC=§. S ioc ITouka
AL e mequana B A ABC. Torara Sagt =SALC=§'- S .z I Touka
Saren =SAI..('=%- S qme +*;‘- 8 e = % S ascp 0,5 Touku
AHaNO0rMYHO 3a YETHPUBIbIIHMKa KBMD 3 TOUKH
H3Boa 3a SaLen™ Skamp 0.5 ToukH




